SCK[ICP3S-SCKLICP30 | EIFEIR

SCK[_ISP3S-SCK[ _|SP30 = -3 - MiBF

Jimatra TOHATSU

§5)
{5;
o
Re 3 BF
- e RIE | M8 | B
S45C LB | FHEE|BRF
SUS304 ~ |mas | ER R
ne SUS304
EI T x
Sl 2
T Al -
i ]
als T
&)
L2 g
I S oo 7y
401
- EEABANHRYZEE—EE
S45C SUS304 &7
5 % FmeEe = % mmeme © | " | P spcp ¢ X M
SCK1015CP3S . [SCK10155P3S A | 10 | 15 | 35 | 45 | 24 | 121 | 95 | 498 | M6x25
SCKI215CP3S 7 [SCK12155P3S A | 12 | 15 | 38 | 55| 24 | 121 | 105 | 50 | M6x25
SCK1515CP3S . |SCK15155P3S A | 15 | 15 | 40 | 66 | 28 | 121 | 12 | 534 | M6x32
SCK1615CP3S 2 |SCK16155P3S A | 16 | 15 | 42 | 66| 28 | 121 | 12 | 545 | M6x32
SCK2015CP3S| Lo | ~ |SCKAOISSP3S| .. | 4 | 20 | 15 | 46 | 66 | 34 | 121 |14 | 538 |M6x32
SCK2515CP3S A |SCK25155P3S| A | 25 | 15 | 50 | 66 | 38 | 121 | 165 | 556 | M6x32
SCK3015CP3S A |SCK3015SP3S N 30 15 56 6.6 | 44 | 12.1 | 19 59.1 | M6x40
SCK3520CP3S /. |SCK35205P3S A | 35 | 20 | 65 | 66 | 48 | 141 | 225 | 60.7 | M6x40
SCK4020CP3S . |SCK40205P3S A | 40 | 20 | 70 | 66 | 56 | 141 | 25 | 654 | M6x50
SCK5020CP3S 2 |SCK5020SP3S A |50 | 20 | 85 | 66 | 68 | 141 | 295 | 727 | M6x50
SCK1015CP30 2 [SCK10155P30 ~ | 10 | 15 | 35 | 45 | 24 | 121 | 95 | 498 | M6x25
SCK1215CP30 2 [SCK12155P30 A | 12 | 15 | 38 | 55| 24 | 121 | 105 | 50 | M6x25
SCK1515CP30 . [SCK15155P30 A | 15 | 15 | 40 | 66 | 28 | 121 | 12 | 534 | M6x32
SCK1615CP30 2 [SCK16155P30 A | 16 | 15 | 42 | 66| 28 | 121 | 12 | 545 | M6x32
SCK2015CP30| . | A SCK2OISSP30| . | 4 | 20 |15 | 46 | 66 | 34 | 121 |14 | 539 |Mex32
SCK2515CP30 A |SCK2515SP30| A 25 | 15 | 50 | 66 | 38 | 12.1 | 16.5 | 55.6 | M6%32
SCK3015CP30 2 [SCK30155P30 A | 30 | 15 | 56 | 66 | 44 | 121 | 19 | 59.1 | M6x40
SCK3520CP30 2 [SCK35205P30 A | 35 | 20 | 65 | 66 | 48 | 141 | 225 | 60.7 | M6x40
SCK4020CP30 . [SCK40205P30 ~ | 40 | 20 | 70 | 66 | 56 | 141 | 25 | 654 | M6x50
SCK5020CP30 A |SCK5020SP30 N 50 20 85 6.6 | 68 | 14.1 | 295 | 72.7 | M6%50
m e 2R B o -
ARFHMEHE45 (N - m) S — SER I H FTES
W% REWEE S > L SCK1015CP3S

I\ 5

L BT E 2




